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1) nswasdlverlugliavendnds fie y=log, xfrawle x = a’

2) g log Whiiaesiradlesuuaduavenids

3) TdndnnisnseantivesasnisiiudngislunisAnama

a) l¥wdnnisuan log Ao log, x=log, y fisawle x = vy

5) lgndanmsmanvesaanisivadeyUsznoumen1smiaILuLiias

LAYANAILSALNDSARN VBIADNISTIY
6) lrann1sUBILaURaaNIIY
ey aamen 0.0187 X 4360 le logl.87 =0.2718, logh.36=0.6395 ,l0g8.15 =0.9113

3591 N = 0.0187X4360

logN = 10g(0.0187X4360)
logN  =1l0g0.0187+logd360 l0gAB = logA+logB
logN = log(1.87X1072) + log(4.36X10%)
logN = 0g1.87 + log10 2 + logd.36+log10°
logN = 0.2718 +(-2)+ 0.6395 + 3 Wan1314
aon15L
logN  =19113
logN  =09113 + 1
logN = log8.15+log10 Wan131989n1394
logN  =log(8.15X10) logAB = logA+logB

logN  =log81.5
N = 815 logA=logB ud? A=B
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Determination of the form of division or multiplication of exponents
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Learning outcomes. Find the common logarithm, use properties of logarithms and

calculate the logarithm

aUsTaIdUanene mAlaeUsEinavesdnuInieglusunsan n1Ivns vselaveninadlag
afuaansiule
Intended destination. Approximation the form of multiplication , division, exponents

by use the logarithm.

ﬂgpﬁaau UNNAENT L%E}Ej’siim Instructor. Mrs. Malaiporn uasuwan

%% % % %% % % % % %% % % % % % % % % % % % % % %% % % % % % % %% % %% % % %% %%

Use the logarithm to find the form of division or multiplication of exponents
TUUNATINSAWINIAEITETUNITAM N1IINT kAAYENATTIYBITIUINIT

wanansaldanuiifestuasni3finlunsiwnldd anldannsdndegldaeniiiudu
WgsrnlagUszanuilndifganiuasavinguy

1
Alternate Example 1 Find (0.620)s , given log6.2 = 0.7924 10g8.53 = 0.9308
1
solution N = (0.620)3
1
logN = log (0.620)3

logN =%(Iog0.620)
logN =%(I096.20><101)
logN = (IogG.20+ IoglO’l)

logN ==(0.7924 + (- 1))

P Wik wlke

logN = 3% (- 0.2076)

logN = -0.0692

logN = -0.0692 +1-1
logN = 0.9308+(-1)

logN = log8.53+ log10™*



logN = log(8.53x10°)
logN = 10g0.853
N = 0.853

1
therefore (0.620)s = 0.853

Alternate Example 1 Find

1) 37  given log3.47 = 0.5403, l0g6.23 =0.7945, 10g3.04 =0.4829,
623 x 3.04
l0g1.83 =0.2625
solution 1) N = _ 847
623 x 3.04
logN = log( 34.7 j
623 x 3.04
logN = log34.7 — log623 - 0g3.04
logN = [log3.47 + 1] - [log6.23 + 2]- l0g3.04
logN = [ a1 N P + 2 e
logN = -1.7371
logN = -1-1+1-0.7371
logN = +(-2)

loeN = log......+ log 10~

logN = (0g(X 107)

N = e
4.7 _
623 x 3.04

2) J0.0846 gven  log 8.46 =0.9274
solution N = 3\/0.0846
1
N = (0.0846 )s

<3
(&3]

1
logN = log(0.0846 )3
logN =% {log0.0846}
logN =
logN =

logN =
logN =
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Personal Skills 1

Determination of the form of division or multiplication of exponents

Learning outcomes. Find the common logarithm, use properties of logarithms and
calculate the logarithm

Intended destination. Approximation the form of multiplication , division, exponents
by use the logarithm.

Find the value of

multiplication , division,
exponents by use the

logarithm. ( 10 points)

1) 3.45%2.93x3/0.29 (5 points)

SOLUTION . ettt et e e et e et e e e eeeeeae e e e ee e eae e seseeeaeeeneseeeeeesenesaeeenenaens




0.6397
0.456x 47.8
SOLUTION . ¢ ettt e e et e et e e ee s e e eeeeeeseeeae e e seeseeeeneseeeeeeseenesaeeenen

(5 points)

When finished. To change
the practice with a friend
check the accuracy.You

have to do is greater than or

equal to 75 percent

Summary score

Score 10 points Made .....ccecnernicenicrnnn. points

Instructor.  Mrs. Malaiporn uasuwan
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1) 0.0023° ( 5 AzLuY)
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